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& B No. K4 g B/r 24 L E=E
1 160 #k R BEHSD 57.021 Q
2 168  # X ARXITH/ 1.02.118 Q
3 166 FHH BEA HEITT 1.07.230
4 159 &R X HEITT 1.07.255
5 163 FHH 3} HEDZD 1.15.319
248
& B No. K4 g B/r 24 L E=E
1 167 =H it ARXZTH/ 58.994 Q
2 165 # B4 HEDZD 59.074 Q
3 161 5T & HEEEHSD 1.03.228
4 162 & K& HEDZD 1.08.825
5 164 fEE & HEEHSD 1.15.732
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F2IRRHFRES 1 =7 a—hSYIRE—R R —MEFIE ERR24%3 848
INFEH{EEEEE BB F 1000m
Iﬁ%
k|
&l No. K% g Ba 24 Ls k=
1 160 # R HEDZD 1.52.004
2 167 =HA ARXITH/ 1.57.942
3 165 # FE4E HEDZD 1.58.038
4 168 #& X ARXZTH/ 1.58.815
F2IREHES1 =7 a—rSYIRE—R R —MEFIE ERR24%E3 848
INEEBESESE BF 1000m
2 72
148
& B No. K4 g B/r 24 L E=E
1 160 #& R HEITT 155001 Q
2 168  # X ARXITH/ 2.05.609
3 161 5T & HEEEHSD 2.14.897
4 163 FHH 3t HEITT 2.36.197
- 164 &R 1EFH ETEITD Penalty
248
& B No. K4 g B/r 24 L E=E
1 167 =H it ARXZTH/ 158782 Q
2 165 # B4 HEDZD 1.58.947
3 159 &R X HEDZD 2.11.708
4 162 & K& HEDZD 2.15.697
5 166 FHH BEA HEITT 2.26.457





